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State Eligibility Test - 2018
(Final Answer Key)

Economics

Q1 What is the theme of Recapitalisation of Public Sector Banks?

S 87 3 31 & GIGSNeRoT T Ry R 37

Customer responsiveness

RIEACEICL

Increase credit off take

$fse 3HThew Ferv

Deepening financial inclusion and digitalization

faeir wamaeret 3R Bforeehentor @ Ao e

All of these

ST | @l

Answer Key: D

Q2 Which council act as a dispute settlement body in the World Trade Organisation?

Hidr TRve 3 SR TIre # faarg AT [T & § & ST Hdr 8?

Executive Council

31T aRwe

General Council

gra=T 9lue

Academic Council

FEiAS IRYE

None of these

ST § IS G

Answer Key: B




Q3 Which one of the following subsidies are not available to the developed countries?

fAFfafed segemEt & & e o St & fow sucrser w7¢T 872

Amber Box subsidies

37 diFd 3fe]ele

De-minimis subsidies

3 - ARHT g

Green Box subsidies

et Slerd 31eTeret

Special and differential treatment box subsidies

fay 3R 3R 3TAR Sled 37eere

Answer Key: D

Q4 Keynsian Liquidity Preference theory explains the

FogTT aeAaT AHAT e Fed FLar

Operation of the money market in an economy

IrdfegaEdr & HeT IS HT fohdTeade

Interaction between the real and monetary sectors

Afeer T arEdfdes &3 & ALY ed] g9y

Motivation for speculation

ieaTsl S Ncarg

Process of adjustment in money and capital market

Hal Td Yoll TR T Gfshar & FHSIAT

Answer Key: A

Q5 The economist who emphasized wage flexibility as a solution for unemployment
: were

forar 3rdemeE o ST § fa elequt ATl SIS 1 gl g2

A |Keynesians




hicaet

Post- Keynesians

g & §1¢

Classical economist

gfaftaa 3reemey

New Keynesians

T Hieade

An

swer Key: C

?6 Cobb-Douglas production function Q= AL? K1a does not possess the

characteristic of

T 39Terd 3careet bt Q= ALY K10 3% sier a7 oreqor @y =18t 7

Constant return to scale

AT T 2R gfawer

Unit elasticity of substitution

gfaeaTasT $I s o

Variable elasticity of substitution

gfaearas $r aRad= T ara

Linear homogeneity

YT THEIAT

An

swer Key: C

Q7 A situation in which economic actors interacting with one another, each choose

their best strategy given the strategies of other players have chosen, is called
Te TRUfY STeT RER frameiier 3 ey 319e) Hafca® IS &7 aeT e &, T8 3
Eenfeat fr TorEhfaar & 715 &, Fgardr §:

Socially optimal solution

AHAITSF T & IHeJheldH gl

Nash equilibrium




QT 9T

Competitive equilibrium

gfaaeh =

Dominant strategy

D

ST TOTAITT

Answer Key: B

Q8 Match List I with List II :

foee 1 & foee 11 @ Ao fifae:
T -

List]

(a) Consumer’s Surplus
(b) Utility theory

(c) Cost Analysis

(d) Product differentiation

(a) TR I aF=q

List Il

(i) Supply decision

(i) Artofadvertising
(i) Progressive taxation
(iv) Welfare economics

T -0
UG SR

(b) IgAfaar e (i) fa=maer &r ar
(c) emeTg  farewor (iii) warfaefer ST
(d) avg fadig (iv) FoamoT 37T
%
(a) (b) (c) (d)
(iv) (iii) (i) (ii)
A
(a) (b) (c) (d)
(iv) (iii) (i) (ii)
(a) (b) (c) (d)
(iv) (iii) (ii) (i)
® ) (b) (© (d)
(iv) (i) (ii) (i)




(b) (c) (d)
(iv) (i) (1)

(iv) (i) (1)

)
)
(a) (b) (c) (d)
)
)

(b) (c) (d)
(iii) (iv) (i) (i)

(a) (b) (c) (d)
(iif) (iv) (i) (i)

Answer Key: A

Q9 In which one of the following situation, a country should pursue a cheap money
policy ?

foest 7 & el IRTEUTIA A veh or 1 T Fgr AT A 39111 =nfge?

Level of economic activities and employment is at low

3t aifafaft & Tax 3t QSR &1 =eg BT

Gold is likely to flow outside the country

Hliel T &2 F T8 FT 3R YaTg dhr GHTGAT gladl

Price level is rising

AT TAX T qGaTT

None of these

D

SoTd & IS TGN

Answer Key: A

Q10 Liquidity preference refers to

TRATT TAIAT T T Far &

The extent to which investors/public prefer to keep their assets in cash form

TR g€ doh [AAAS/STIdT 39T Ul T 7916 §F FH TWAT 9HEG Fld ¢

RBI's shareholding in other financial institutions

3= o et & 3RAIEmE & R_R URoT

C [Community's preference for gold




Tl & T FHFerT S algdr

Community's effective demand for capital goods

P QotaTed a&3t & fOT Heer hr gerd Hfer

Answer Key: A

Q11 Stagflation can be explained by
TEIFIRNT I ATEAT AT §

Workers push costs upward and thereby initiate inflation

HAG = AT Y 3T T 3R e am 4R 38 a¥E AFEHf O gl &

Wage increase which leads to productivity increase, thereby setting off inflation

HIGY 7 JE 1 | 3caIaahdT H JEfe gl &, forad HErehifa Tew gl &

A leftward shift in the aggregate demand curve

THI AT Ik A dR—-T B deard

A leftward shift in the aggregate supply curve

THY gfct g A 9T R Seeld

Answer Key: D

Q12 With reference to the budget deficits, consider the following statement:
1. There can never be a fiscal deficit without a revenue deficit.
2. There can never be a primary deficit without a fiscal deficit.
Which of the above statement is/are correct?

g9l °1el & JedT #, [rafaf@a s« ) R +i:

1. JToIET °1¢ & a1 Torente arer FHT off 8T g1 TehaT|
2. TR °1e &F 91 Grafde arer it 78T a7 Tohdr 2|
IRIFT HUA H T Tel g7

1 only

1 hadl

2 only

2 hddl

C (Both 1 and 2




gt 13w 2

Neither 1 nor 2

D

Tar13ikagr2

Answer Key: B

Q13

If on Monday € 1 =$ 0.57 and on Tuesday € 1 =$ 0.68, which of the following is correct regarding € to $ exchange

rate ?
I AFHIR A € 1 = 0.57 AT HITAR & € 1 = $0.68, ar € T $ _ANAT T & TGeof
H 1 T 82

Dollar appreciated
A et AT gam &

Euro depreciated
| v e g

Both Euro and Dollar appreciated
¢ T AT STeR et 1 IHAHe g3 8

Euro appreciated and Dollar depreciated
P T 1 HAHTA TUT SeR HT FTHTA I §
Answer Key: D

Q14 With reference to Gross Domestic Product (GDP) deflator, which of the

statements given below is/are correct?

1. It is the ratio of the value of goods and services an economy produces in a
particular year at current prices, to that at price prevailing during any other
reference (base) year.

2. It is also called implicit price deflator.

3. It measures inflation.

Select the correct answer using the codes given below:

"ehel B 3cUTG (GDP)3qEhifadsRes (Deflator)d Heet #, i< & a1 A1l & & et &1
e e

1. Ig Ueh T3 a¥ & Hisper Hredl W 3eqaeyr & 3cue R Y13t & Hed HT IHeUrd § S
Ry off 3 T (3MYUR) a¥ & eRTeT yafard dar I &l

2. 3 TfFEAfad Ao e faeReS(BreR) o Fgrl ST 8|




3. Ig AR T A9 2|
AT f&r 91T IS T TGN F:leh Tl 3R ol

1 only

1 Fad

2 only

2 hadl

1 and 3

1313

1,2and 3

1,23k 3

Answer Key: D

Q15 In economics, which of the following best explains the significance of a Phillips
Curve?

N H, AeATaf@d J & Pl a8 3roT ey g FT Agcd Sdrdr 872

It shows the inverse relationship between the rate of unemployment and
a |corresponding rate of inflation.

7E SRS &1 & 3R AR &1 o & drar ol Faer i g2 8

It shows the direct relationship between the rate of unemployment and
g |corresponding rate of inflation.

Ig SRS &Y a3 3R AR i a3 & ST JegaT Faer i g B

It shows the inverse relationship between the rate of poverty and corresponding
c |rate of inflation.

Ig AT T &3 IR AerERf F &3 & fra oda wee @ gefar g

It shows the direct relationship between the rate of poverty and corresponding rate
D of inflation.

Ig IS T X 3R AEERITT Y R & i TegeT T e g

Answer Key: A

Speculative demand for money is zero when market rate of interest is




Q16 et 1 qReheT=AT AT e BN ST STIR SATST &< &1

More than the 'critical rate'

A it o o o

More than the market rate of interest but less than the critical rate

ST S3TST &X & 378 9 shifcleh e & e gl

Less than the market rate of interest

SR &S & U HA &r

Lowest

D

IGE L

Answer Key: A

Q17 In accelerator theory, capital-output ratio is assumed to be
ca¥eh fletnd &, Goll-foiaTe 3e]dTe #AT ST &

Increasing

Decreasing

U?.'T-IT§3-1T

Constant

=R

Independent from level of national income

P TSET AT & TR & FGdT

Answer Key: C

Q18 Determinant of maximum profit for a firm is

W & T 31RRaH oM T freRoT @Xar &

Price

AT

B |Average cost




3id e

Both average cost and price

3| arTa 3R frEad gar

The output level

D

3cqic &l TX

An

swer Key: C

Q19 Which of the following is called as the Gossen's first law?

Afaf@d & & FIFAT MNTT FT Igall [HITHT Fgalrdr 57

Law of diminishing marginal utility

AT 3uAfEar-ea @I

Law of equi-marginal utility

gH-Treia 3gafaar e

Law of demand

AT T [T

Law of substitution

gfaEaasT &1 Fae

An

swer Key: A

Q20 The Chamberlin's oligopoly model assumes that

AFIRIAT T IR Alsel AT § 5

Firms recognize their interdependence and maximize profit

BH 39T TG AT 1 9gareia & 31 o &1 31fehad g &

Firms without recognizing interdependence minimize industry profit

A 39T RER TARAT T Igarel [9ea1 36T & o1eT &l A Il &

Firms recognize their interdependence and maximize industry profit

Hd AT TToRAT Sl TgdTeld § 3 3ENeT & areT i AThdH i ¢

None of these




$TH A P TG

Answer Key: C

Q21 The first theorem of welfare economics states that
FoIT0T 7ARMMET ST Ugell THT HgdT § &

All prices are equal in a competitive equilibrium

Gl 1A gfaeatll dore 7 T §

A competitive equilibrium is Pareto efficient

gfereaef Feerr et Ferer &

A competitive equilibrium maximizes the supply of goods

gfaeaeff Fqerst aec3it v 3mfel r e Har ¥

A competitive equilibrium will maximize profit

gfaeaeff FJerst oTeT T ITAPH FIT §

Answer Key: B

Q22 Which of the following is not correctly matched ?
T AeAfi@d A O P TE A Aol AT Wi 87?

Absolute income hypothesis : Keynes
A 98T 3T IRFeTaT @ Hled

Relative income hypothesis : Duesenbery
® |amier smr oo « sEeRE

Permanent income hypothesis : Friedman
© et 3 oRee ; P

Life-cycle hypothesis : Baumol and Tosin
° SiaeT-gsh IRehede © STATe IR 3T
Answer Key: D




Q23 A tangency point between an isoquant and an isocost line identifies

AU, 3R THTTT 1@ & orel Ueh T97 3@ foig ferern &

The least cost combination of inputs required to produce various levels of output

3cutee o faffiest TaRi # 3curee & fov 3AfeTd R (3AYC) T 39 ol Fhslel

The various levels of output that can be produced using a given level of inputs

3Tl & & I TR T 3UANIT Fleh ScuTee & ARt TRT T 3cUTesT fhdr ST Tehal &

The various combinations of inputs that can be used to produce a given level of
output
C

3RTAT & faffest AT F1 39ATeT St fordlY QU a0 TR & 3cute & fow fFar i1 Ihat &

The least cost combination of inputs required to produce a given level of output

e I 3curesT TR F AT 31M9TT 71 3769 AT FATSTeT

Answer Key: D

Q24 Which theory is generally included under micro economics?

hieTaT AT AR TR GaH AT & 3icfeia FfFATT foham ram g2

Price theory

e fetia

Income theory

I feurd

Employment theory

Ao et

None of these

$TH A P TG

Answer Key: A

Q25 At point of satiety, marginal utility is

i & fig o, Werier s &

Zero

AT

N




Positive

BEIRED

Maximum

G IBE TS

Negative

HOTcHE

Answer Key: A

Q26 How much physical output a worker produces in an hour's work depends on

Teh 6¢ & 1 & U HTHG fohdetT $ifde 3cdiesT sear & g AR ar &

The worker's motivation and skill

A% Fr 9o 3T Pl W

The technology, plant and equipment in use

deheileh, Tolic 31 3UhOT & 39T O

How easy the product gets manufactured

3cUTE ST TIHTOT fhcielT Haolar ¥ gar &

All of these

I gafr

Answer Key: D

Q27 Which of the following is the basic characteristic of oligopoly?

foe=T & & Sl reufRRR dr giaarc faRivar &2

A few sellers, one buyer

Fo fashdl 3R T TR

A few sellers, a few buyers

F& fashdr 3R F& TR

Many sellers, a few buyers

%3 fash 3R o TR

D |A few sellers, many buyers




e Rbar 3T 78 Ther

Answer Key: D

Q28 The condition of Pareto optimality hold correct under

et s56ad7 (NEATAE) Hr ufa F Tga afaa &

Perfect competition

qut gfaanfarar

Monopolistic competition

TehIT8hRIcHS Fiafaar

Oligopoly

TR

Monopoly

TR

Answer Key: A

Q29 The shape of average fixed cost curve of the firm will be

B 1 3 R dreTd g% e

Parabola

WdelT

Circle

gsh

Straight line

Hedr T

Rectangular hyperbola

IATHRR SISl

Answer Key: D




Q30 The meaning of word 'economic' is most closely connected with the word

"IN 2ree 1 378 TR reg & ATY TeH che T T3 & 2

Extravagant

wiferr

Scarce

g

Unlimited

AT

Restricted

Dﬁﬁ

Answer Key: B

Q31 Which of the following are Government of India's debt obligations?
I. State provident fund
II. Small savings
III. Reserve money
IV. Reserve funds and deposits

farafaf@d & & Slad AR TFR Fr FoT FrEFan g?
I T Hiasy fafer

IT o Srcd

111 Rsfd 7gr

1V Re1d w3 3R Buifoea

I and II are correct

I3 II @Y &

I, IT and 1V are correct

I, II 3R IV @& g1

II and IV are correct

I3 IVEE

I, II and III are correct

I, IT 3R III @& &1

Answer Key: B




Q32 What does Hedging mean?

REEEIGIGE o

The acceptance of a foreign exchange risk

el AT ANT@H A Thrar

The covering of a foreign exchange risk

facel fafaaa Sf@# & shaier

Foreign exchange speculation

el AT IReeTsr

Foreign exchange arbitrage

IECAIREIGEERECIEE!

An

swer Key: B

Q33 Public debt management refers to

Aol FOT YaeleT Hefad idm &

Terms of new bonds

T 915 T A

Proportion of different components of public debt

HTdSTioteh T & AT Teehl & Jequra #

Maturity

gRgeradr

All of these

RRGE)

An

swer Key: D

Q34 Capital deficit in India is

HRCT T Yol °TeT §

A

Zero




YT
N

Negative

HOTcHE

Positive

YellcHSD

None of these

$TH P G

Answer Key: C

Q35 Regression of Y on X is the study of
X 9T Y & GTUerHeT &l ETIA &

Estimating the degree of linear association between Y and X

Y 3R X & ST Qe AT Y R 1 3Teheled

Estimating the degree of independence of Y from X

X Y & Tardsg HIfe FT el

Estimating the average value of Y on the basis of the fixed values of X

X & fAfRad Hedt & IR WY & 3Ed HoT H1 3MTehelel

Estimating the degree of responsiveness of X to Y

X TY & 3TEIR—ca $r Fife &1 3Maheld

Answer Key: C

Q36 Type I error consists of
TUH GHR T I A g &

Accepting a false hypothesis

Teh ITold IYRHeTAT sl TR el

Accepting a true hypothesis

Teh gl IR hl THHRR hledl

C |Rejecting a false hypothesis




Ueh ITeld GIehededl &l 3EAThR el

Rejecting a true hypothesis

° Teh gl IR&eTeT ol TR aT

Answer Key: D

Q37 When poor economies grow faster than rich ones, the phenomena is termed as

S TR ATV AR HITTEAT &Y JoIedl 7 doll ¥ TGl 8, ol SH T &l Fgl ATl §

Dispersion

thorrg

Divergence

ICECG

Convergence

FfATTor

None of these

D

ST A IS A

Answer Key: C

Q38 Extreme observation mostly affect the case of

3TTTF 3deilehed TaH SATGT THITAT LT &

Median

afegeT

Mode

EREEY

o}

Arithmetic mean

HET

None of these

SoTd & IS TGN

Answer Key: C




Q39 For a normal distribution

AT [Aaor & fow

Standard deviation is smallest and quartile deviation is largest

AeTeh faeele Ty Bler 3R Tqdsh faae Ted 937 8

Standard deviation is largest and quartile deviation is smallest

Heieh faerelel Ho 937 3R TJIh Fawreled Td BleT &

Mean deviation is greater than standard deviation

3iaa e ATS Ao O 3fs &

Quartile deviation is larger than mean deviation

TqYh faeer e faweleT § a7 §

Answer Key: B

Q40 Which among the following is the likely cause of inflation ?
1. Lowering of policy roles by Reserve Bank of India
2. Buying back of Government securities by the RBI from the open market
3. An Increase in MGNREGA wages
4. Decrease in indirect taxes by Government
Select the correct answer from the codes given below:

fAeAfafEa & & Slar FafERIfa T HROT 8 FevdT 2

1.9Rr RSTd §(RBI) @R iford &3t & el

2.9 Nord e garr gor e 7wt gfasfardt &1 qo: @diear
3.7+ (MGNREGA) T Helg{l # Jefer

4 TR GaRT 3T9cTET U H HhaAr

oA G 7 1 & WY e} oA

1,2 and 3

1,23k 3

1and 2

132

1,3 and 4

1,33k 4

D | All of these




T el

Answer Key: A

Q41 Okun's law postulates a

3Npet T T acfrer &

Positive relation between unemployment and real GDP

SO 31X arEaids GDP & ST GhRIcHS T8

Negative relation between unemployment and real GDP

SASEMY 31 arEafdss GDP & ST sThRIcHsS ey

Positive relation between money supply and price level

Hal 3MYfcl 3R Hod TR & §rT FhRIcHS Faer

Negative relation between money supply and rate of interest

el 3qfet AR sTTST &T & oI FARRIcHS TG

Answer Key: B

Q42 In dual gap model, the gap can be filled by
: 1. Raising the level of saving

2. Export promotion

3. Steady rate of growth

4. Foreign aid

&l 37aTe Alsd #H, AT HI AFATAET o GaRT T ST Fohel &
1. I T X 33T

2. T Y FeTaT S

3. TGEf I TUR T o ganT

4. faceh 3nfde Fgrgar garr

1,2 and 3

1,23k 3

1and 2

132

c|1,3and 4




1,334

All of these

P Ly astr

Answer Key: D

Q43 The terms of trade refer to
SR &1 eral ¥ 3T §

The excess of import expenditures over export earning

foaTa 3T ¥ 3T Y 3w

Trade agreements

IR @ASA

The ratio between export prices and import prices

foraTd Feat 3R AT Hedl & orer 1 37T

The terms and conditions on which a country is offered loan in the event of balance
p |of payment difficulties

AT 3recere 1 FeAfa & wah er &t HoT & dereher A W AT I e 3 et

Answer Key: C

Q44 Women participation in employment remains low. Which of the following is/are
the reason(s) for the same?
1. Job deficit
2. Scarcity of suitable job opportunities
3. Rising family income
4. Culturally patriarchal society
ﬂwﬁmﬂﬂﬁaﬂwaﬁg‘é& =T & O laar s T HROT 8?2
1 AlR Fr FHAT
2 39gerd USTIR & AT T Hadl
3 gRaR T dgdr 3T

4 HiEpide Aadcas AT

1 and 2 only

1 3iR 2 S




1, 2 and 3 only

1, 2, 3R 3 Faa

1,2,3and 4

1,2,3,3Rk4

1 and 3 only

1 3R 3 &g

Answer Key: C

Q45 A series of numbers is: 16, 3, 11, 14, 5, 8. What is the mean for this series?
qEAT3T Y Tk Y@ 8: 16, 3, 11, 14, 5, 8. 3H HWell & v Ay a1 §7?

9.5

9.5

8

8

11

11

14

14

Answer Key: A

Q46 The two tails of the normal distribution extend

A favor & &) 39y feaia e &

Definitely and touch the horizontal axis

AfRaa ¥ & 31k &fasr 367 r TaT W

Indefinitely and touch the horizontal axis

fAfRTa w9 & 3R Afas 3587 = TwT

Definitely and never touch the horizontal axis

fAfaa &7 & 3R &fast 3787 1 et oy AT T W

D | Indefinitely and never touch the horizontal axis




AT T F 3T 3 ST 3787 A T o HY

Answer Key: D

Q47 Small changes in the data can cause sensitivities in OLS estimators and their
standard errors when there is

37ehsT 7 BIE IREcH o HROT OLS ATt H HagaTMNeldl X 37ehT Hiefeh JfedT T HROT
A GohclT &

Heteroscedasticity

geIEhaEeHe

Autocorrelation

RERRESICIR[EIMCAIREN )

Multicollinearity

ag—uﬂ@w

Non-normal errors

IR-wra=g Afear

Answer Key: C

Q48 Assertion (A): Life-cycle theory assumes that the person know the number of
: years he will live.
Reason (R): According to life-cycle theory, people tends to consume more at their
retirement.

FUA (A): ot goh YT Tg AT § o eafard Ig STar ¢ 7 a8 fohder av sidem|
HROT (R): Sael sk At & AR, oleT ofeh! YaTfeidic & FHT SATET IUHIT & ¢ |

Both A and R are true and R is the correct explanation of A.

gt A 3R R &cg € 3R R, A T TEY TISEROT &

A is true but R is false

ATT Y, afFT R I

Both A and R are true, but R is not the correct explanation of A

alet A 3R R a7 &, JfesT R, A T T8T SIreaT AgT

D |A is false but R is true




A3NTT T AIFTR AT &

Answer Key: C

Q49 Assertion (A): Leontief Paradox contradicted Hecksher-Ohlin theory.
Reason (R): USA exported labour intensive products.

U (A): 'fsiieaw dRslen' & 'gRR gl Rguid’ &1 @+ |
FROT (R): HIFT T ARG  4-He=T 3cure &1 fie |

Both A and R are true and R is the correct explanation of A.
A gl A 3R R a7 & 3R R, A &7 T8 TASEIHI0T &
A is true but R is false
® A w g, oifehel R 38T &
Both A and R are true, but R is not the correct explanation of A
¢ gl A 3R R a7 &, afhed R, A & T <Ar&aT w181 aiar
A is false but R is true
® A srreer g dfehed R T &
Answer Key: A

Q50 Assertion (A): The new endogenous growth theory examines production function
that shows increasing returns.
Reason(R): Because of specialization and investment in knowledge capital.

FUA(A): AT Iaeld G ReHid 3creet 1 FHr ST HIAT & AT g6 Fdhel l GATdT &
|
HROT (R): faAwaar 3R 7 ot # foder & &R |

Both A and R are true and R is the correct explanation of A.

gt A 3T R T € 3R R, A &7 T TTsdIHor §

A is true but R is false

ATT Y, afFT R I

Both A and R are true, but R is not the correct explanation of A

alar A 3R R @ &, Afhad R, A &1 T SI1&AT 8T

D |A is false but R is true




A3NTT T AIFTR AT &

Answer Key: C

Q51 Assertion (A): National income increases if investment is greater than saving.
Reason (R): Saving and investment are planned by same individual.

U (A): AR Fad HT 38T A3 STET &7 A TSET 3T 7 JefT @N ¥
$ROT (R): 9 3R 32T v & safed gart Hafaa 7 o €

Both A and R are true and R is the correct explanation of A.
A gl A 3R R a7 & 3R R, A &7 T8 TASEIHI0T &
A is true but R is false
® A w g, oifehel R 38T &
Both A and R are true, but R is not the correct explanation of A
¢ gl A 3R R a7 &, afhed R, A & T <Ar&aT w181 aiar
A is false but R is true
® A srreer g dfehed R T &
Answer Key: A

Q52 Assertion (A): Disguised unemployment is present in Indian agriculture.
Reason (R): Marginal productivity of agriculture is close to zero.

HYA (A): HRAT HY H S AR HS[E & |
HROUTI(R): H AT AT Scargerdr Lo & FA ¢ |

Both A and R are true and R is the correct explanation of A.

gt A 3R R &cg £ 3R R, A T TEY TISEHOT &

A is true but R is false

AT g, dfheT R 3T &

Both A and R are true, but R is not the correct explanation of A

alar A 3R R @ &, AfehaT R, A &1 T SI1&AT 8T Sl

A is false but R is true

D

A 3T g dfhd RTT E

Answer Key: B




Q53 Assertion (A): Removal of poverty remain a central concern of Planning in India.
Reason (R): Development is not just about factories, dams and other
infrastructure. It is basically about human being

FUT (A): IRT H RIS Y Uk icga Rar IR ger=r T &
&ROT (R): fashrd Rt sRamE aiel 3R 3w g o & ar # 781 8, I6 7o &9 & S41
q S8

Both A and R are true and R is the correct explanation of A
A gl A 3R R acT & 3R R, A &7 T8 TASEIHI0T &
A is true but R is false
® A w g, oifehel R 38T &
Both A and R are true, but R is not the correct explanation of A
¢ gl A 3R R T &, afhed R, A & T <Ar&aT w181 aiar
A is false but R is true
® A srreer g dfehet R T &
Answer Key: B

Q54 Union Cabinet has proposed to provide "Housing For All" by the year
e FAASH o 'FH & AT AT’ FT gEdE & fov ohg a¥ de Fr dew @ g

2019

2019

2021

2021

2022

2022

2023

2023

Answer Key: C




Q55 Which of the following taxes is most likely to be regressive?

T 7 O piad @ X & gfaemsy g 1 31 gaa=r 872

Sales tax on mobile phone

AT BT W ToshT X

Excise duties on kerosene

fATEr & Tel W 3 Yoh

Import duties on electronic goods

gelgFelfaleh a3l O AT Yo

Entertainment tax

HARSTT HT

Answer Key: B

Q56 Who among the following did not estimate the incidence of poverty in India?

fArfafEd & @ fohes TRa & TS T STl I AT 6T oTamT?

B.S.Minhas

Y. . fAegy

P.K.Bardhan

Y. &, I

V.M.Dandekar and N.Rath

&Y. TH. g3 Ug T, I

Raj Krishna

D
Mol HEUT

Answer Key: B

Q57 The fundamental cause for the collapse of the Bretton Woods system was the

SeeT g yeufd 1 GATTH T Hef HROT AT

Liquidity problem

TRAT FHET

B |Adjustment problem




AT GHEET

Confidence problem

faearg gHEEAT

All of these

P Lo astr

Answer Key: D

Q58 The upper portion of kinked demand curve is
© TASRId AT gk w1 3H e §

More elastic

310 AeER

Relatively inelastic

Fufed dit X SR

Less elastic

FH AR

Perfectly inelastic

QU SelaaR

Answer Key: A

Q59 Equality in the Marginal Rate of Technological Subsititution (MRTS) between
: labour and capital leads to optimization in

HH T Yol o HEG deheiteh! FTAEUTTT T WA= & (MRTS) I FHATA fheTe fegepercr
TEI AT &

Consumption

3THET

Production

3cdice

Composition

g




None of these

D

3T P TG

Answer Key: B

Q60 If marginal propensity to consume (MPC) is equal to average propensity to
consume (APC) for all levels of income (Y), consumption (C) will be

IfE 3 (Y) & Tedeh TR 9 30T H dATT ggfa(MPC) 39sier @ 3iad sgqfa(APC) &
SIS g1, o el 3UsT (C) glam

a+by

a+by

a+b/y

a+b/y

by

by

by?2

by?

Answer Key: C

Q61 Which one of the following is a measure of the central tendency ?

frfaf@d & @ SHiaar i ggfa v A9 i g2

Mean, median, mode

HIET, ATCAPT, Tgelh

Correlation

TEEFaTY

Dispersion

3afepoT

Kurtosis

i

Answer Key: A




Q62 Match the following appropriately

List |

(2) Dumping
{®) Price rigidity

(c) Horizontal straight line demand curve

(d) Many sellers & buyers with differential product

List Il

(i) Monopolistic competition
(if) Oligopoly

(iii) Competitive firm

(iv) Discriminatory monopoly

BEGRGEIGEIIG I
() (1)
(a) & (i) THFRFRes Sfeifar
(b)  wex FBRAT (i) LRI
(c) & e W@a A7 5% (iii) gt w3
(d) AT 3t F 7 3aF Far (V) s+ vaflosR
T fashar
(a) (b) (c) (d)
(iv) (ii) (iiif) (i)
A
(a) (b) (c) (d)
(iv) (it) (iii) (i)
(a) (b) (c) (d)
(i) (iv) (iii) (it)
B
(a) (b) (c) (d)
(i) (iv) (i) (it)
(a) (b) (c) (d)
(it) (iv) (1) (i)
C
(a) (b) (c) (d)
(it) (iv) 0) (i)
(a) (b) (c) (d)
D
(1) (i) (iii) (iv)




(a) (b) (c) (d)

(i) (ii) (iif) (iv)

Answer Key: A

Q63 In Human Poverty Index (HPI), India's rank in the world is

AT IS Felehleh A AR 1 faed 7 T §

Seventh

19

RIGEL

Third

GIEEY

Eight

3r&ar

None of these

ST A IS A

An

swer Key: D

Q64 According to Pigou, social welfare improves when

A9 & ITHR HIHITSH Hodror H gefer gl § ST

National income increases

TSERT 3T 7 Jef g g

National income is redistributed

TSERT AT T JATTAT 3R ST ¢

Both (National income increases) and (National income is redistributed)

aNelt, IERT 3T 3 AT Bl & TAT ASET I FT TATTAROT AT AT &

None of these

SoTd & IS TGN

An

swer Key: C




Q65 Product differentiation is common in which of the following markets?
3G 30T Bl F SR H ATACT T T 91T ST 872

Monopoly

ThITHRR

Perfect competition

qut gfaanfarar

Monopolistic competition

THIfIRRIcAS Ifadifrar

Monopsony

D
Tohol TGR 9T

Answer Key: C

Q66 Trickle down strategy explains process based on which of the following systems?

3renaTEY Rama(fewer 313+7) forg 3 gumelr W 3menia &2

Socialist system

HHATSIATET JOTTelr

Mixed economic system

AT 3rdcaaTar yomenr

Capitalist system

gonareT Jotelr

None of these

D

SoTd & IS TGN

Answer Key: C

Q67 Parameter of perfect coefficient of correlation is
YT Hg FES I[N I HUCS &

A|+1




0.01

0.01

Answer Key: A

Q68 Factor Reversal Test is based on
Tcd 3cshIEadT TNeToT 3Menia &

Weighted index

HIRS Ferehieh T

Simple index

HIUROT Fahih T

Fisher's approach

fhR & TSChIvT W

None of these

$TH W IS A

Answer Key: C

Q69 Quality of life is affected by
" Sfae &Y IOTaEr g gl §

Human poverty index

A AT Feehieh &

Economic development

s g O

Human development index

HATeTd TaehTe Gelehich




None of these

D

3T P TG

Answer Key: C

Q70 The theory of 'Navapravartan' is related to

'Ta Yool ol [fetid fFefafad & & fod & dedietd g2

Schumpeter

FIX

Marshall

AT

Keynes

EOCR:)

Jevanse

Saeq

Answer Key: A

Q71 Effective demand indicates

FaTaqut AT Gl §

Employment condition in equilibrium

AT H USTR T g2m

Unemployment condition

SRISTATRY T ger

Both (Employment condition in equilibrium) and (Unemployment condition)

aleAl, T H USTIR T ST T2AT SASTIRT T g2

None of these

SoTd & IS TGN

Answer Key: A




Q72 'Theory of Capital Accumulation' is related to

"It {1 Aeuid’ Fafeyd §

Joan Robinson

Sitet AfSeTdeT

Ricardo

Reeprat

Haberler

g

Harrod-Domar

S-SR

Answer Key: A

Q73 An economy is in equilibrium when

3regerdT Oy H gl g o9

AD=AS

AD=AS

Saving = Investment

ggd = fAger

AD > AS

AD > AS

Both (AD=AS) and (Saving = Investment)

gl (AD=AS) T (§ad = f=iaer)

Answer Key: D

Q74 Food corporation of India was set up in

HRAT Wiy e fore a¥ & wnfad foam o 2

1950

1950

B 1960




1960

1965

1965

1975

D
1975

Answer Key: C

Q75 Big Push Theory is related to
a1 gar fgwia fre & wwafeed §

Mankiw

Aeifera

Stigler

TEearek

Paul N. Rosentein

Uil Tt AotAcreT

Avinash Dixit

3tfarer &ifard

Answer Key: C

Q76 Solow built his model as an alternative to

el & 39T ATSS @ QAehed & T F TATAT?

Kaldor's model of growth

FiesT HT FhrT AlsT

Ranis-fei model of growth

IFg-Fr 1 [FHg AlsdT

Harrod-Domar model of growth

EUS-3HR &1 Q1T AlS o

Meade's model of growth

A2 1 AT Al




Answer Key: C

Q77 Sequencing process of Harrod's model of development is

&S faohr Afser T wiAw IfhaT &
Natural growth rate
Tehfceh T &X
Warranted growth rate
e e &3
Actual growth rate
qEdae faer X
Divergence

TaaTeret
Answer Key: B

D

Q78 Regional trading block agreements

&I ST selleh FASS

are not considered trade restrictions.
A SYTYR FahTdc JAg] THS S|

are required by World Trade Organization rules.
8 faed SATUR HareeT IH o AR 3T ¢

exist primarily in Russia, Africa and South America.
© | secererar =, e v gTaveT 3R o aw T |

make special trade deals with countries in that region and discriminate against
p |countries outside the region.

3T 81T & T ¥ AW Hig = & T 817 F 9 F 20 F AFey geTITT I B
Answer Key: D

The price index that uses base year quantities as weights is called




Q79 HAe Fawieh S TR I aRATeAS § & s1RE &Y §, Fgonar &

Passche's index

A ;
qrE Felehich

Laspeyer's index

AEUI Flehieh

Fisher's ideal index

OheR 3TeeT e

Wholesale price index

Uleh hIHAT Fehieh

Answer Key: B

Q80 What is human capital?
HIeTd Yol T 872

Total human resource

Tol HAleTd T

Total population

gma?m'w

Human resource in productive activities

3cUreY afafaterat # omereh T T & g AleTa FETET

All of these

RRGE]

Answer Key: C

Q81 The concept of 'learning by doing' was given by
'haT AT 3T (F@aT)' aUROT fha & 82

J.R.Hicks

3. 3R, feow

B |Kenneth Arrow




Faer 0

Joan Robinson

K IGRUCERSE

Nicholas Kaldor

D

IGEArCEACArCE Iy

Answer Key: B

Q82 Which of the following is not included under WTO regulations ?
" faafef@a & @ slaar WTo R_fsgat & afFafea g1 g2

Removal of industrial licenses

e SHEr Y FATCT HIEAT

Removal of import tariffs

3T F[eeh ol TATCT el

Removal of foreign portfolio investments

el MEHTIRT fAAT S FATCT FHET

Removal of price control

AT AIFT A FATCT FEAT

Answer Key: C

Q83 Budget is an instrument for
e T IT ¢

Fiscal policy

TIRET AfT 1

Monetary policy

Aifgep Aifa &1

Economic policy

e Aifa &1

D |Export policy




ot fa =

Answer Key: A

Q84 Simplex method is used for solving the problem of

rafafad & & fradr T T AT e & v Begeled Jotrelt &1 w=eT fovar Sirar g

Linear programming

@ gt

Input-output analysis

SAMITA-3cUTgeT faRelyoT

Regression

SICISEIPaEs

Correlation

TeaFe=yg

Answer Key: A

Q85 Regarding changes in the interest rates, the most sensitive money market is

SITST &¥ A gRade gl WX Fqad 31f¥% Hdea12fier 9ok &

Bill market

IECECISIES

Unorganized money market

m%aagaram

Call money market

il HaT ST

Loan market

FUT ST

Answer Key: C




Q86 T-test was developed by
Er-udreToT fohaer asfaa fohar?

R.A.Fisher

IR, T. R

Sir William Gosset

X faforga ade

Karl Pearson

Frol FORRYT

None of these

ST A IS A

Answer Key: B

Q87 GNP exceeds NNP by
Tehol TSEY 3cuTe el USET 3cure § 318 &

Total taxes

Fel Y & R

Government expenditure

TSThRT IT & S{TeT

Transfer payments

§EATecROT $[ITdTeT & SR

Difference between gross investment and net investment

Tehel TAQRr TUT Y AU & A o /IR

Answer Key: D

Q88 Index number indicates

Heehieh HEAT SR el §

Absolute changes

faReT gRadT

B |Relative changes




ey gRadeT

Both (Absolute changes) and (Relative changes)

gt (et aRadsr Yaar (amet aRadeT)

None of these

D

SoTd & IS TGN

An

swer Key: B

Q89 In calculating buoyancy of a tax, we consider

FY & GHTAT T 3ol Hld THYT &A1 TW@T ST §

Only discretionary changes

o Tdfooe TRIdAT I

Only automatic changes

Fad Tad: IRadAT W

Both (discretionary changes) and (automatic changes)

o (RfTes aiadsr w)ar (Faa: aRkadsr W)

Neither (discretionary changes) nor (automatic changes)

T ®ftos aRadsr T 7 & Tad: 9Radal W

An

swer Key: C

Q90 A consumer's demand curve can be derived from

Th SYSHIFAT HI AT-dsh SFcTee fohdT ST Hhll §

Price consumption curve

AT 39T IH A

Income consumption curve

3T 39T I o

Engel curve

Uoid dsh O

Lorenz curve




GIESECE 2k

Answer Key: A

Q91 Given median = 46 and mode = 48, arithmetic mean is

ATEIRT = 46 R getsh = 48 & IV gt I AV ATET g9m

45

45

49

49

48

48

94

94

Answer Key: A

Q92 Market at which transaction will be consummated at some specified time in future
is called

T IR faH aet-cet fasa 7 frelt @ra 7T 9 5ot g9, I gl STl §

Spot market

HIEEECICIES

Current market

dle] ST

Capital market

Goll STeiR

Forward market

CIRCARCIE IR

Answer Key: D




Q93 Main objective of Public Distribution System is

ArdsTioteh facOT SaE AT & HET 36697 §

Export of food

redTe= &1 fatd

Import of food

WIedTeT &l AT

Food security

e geat

D

Quality of food

g dleed $r d‘_I’UICIl'II

Answer Key: C

Q94 Note : Arrange the following in order in which they appeared. Use the codes given

below:

(i) International Monetary Fund

(ii) International Finanace Corporation

(iii) World Trade Organisation

(iv) General Agreement on Tariffs and Trade
Codes:

foger: AT &Y 3eTeh HITAR HAGCY HITGT| $Hb [T Feod FHe HT JA1T HifoT|
(i) SACTALAST Hlied B3
(i) SACTALITT BT HRINLIA

(i) go8 3 AFRfATSAAA
(iv) STeRel Taiee 30t ERwy Us &3
(iv) (i) (iii) (i)
A
(iv) (i) (iii) (ii)
(1) (1) (iv) (i)
° (1) (ii) (iv) (iii)
(i) (iv) (ii) (iii)
Ny (i) (iv) (ii) (iii)
(ii) (iii) (i) (iv)
D

(i) (iii) (i) (iv)




Answer Key: C

Q95 Engel curve for Giffen goods will be
farthet &g & T Toter ash gram

Positively sloped

dTcHD Glel dTlell

Negatively sloped

R UTcHSD Glel dlell

Vertical

ofFddd

~

Horizontal

SIGE]

Answer Key: B

Q96 Liquidity trap is a situation when demand for money is

eI Sirer 1 Eufd ag § fSae qar o forw Aver

Zero elastic

T olra T g &

Unit elastic

gepTS I T Bl &

Relatively more elastic

JelelTeHeh & & SITET AER gl §

Perfectly elastic

QU g BT §

Answer Key: D

Q97 If demand function Q = 20 - P? and price P = 2 are given, what will be price
elasticity of demand?




I AT BT Q = 20 - P23IRFATP =2 I gr A AT R g a1 8 ?

1/2

1/2

2

2

3/4

D
3/4

Answer Key: B

Q98 The concept of sustainable development was first given by

ol fdere 1 3aurRoT YA fRas garT gfadried @i s ?

Bruntland

sicols

S

Kindleberger

E R CEIRS

Raul Prebisch

Tror Afeer

Keynes

EaCR)

Answer Key: A

Q99 Keynesian economics is applicable during

g &1 3rTATET 3gAEN §

Hyper inflation

FgTHET THI T aem &

War

gey g A




Depression

AT freem 7

Full employment

° qoT AR T &= H

Answer Key: C

Q100 Government picked up entire SBI shares held by the RBI on the basis of the
guidelines of

THRT & RBI ¥ T SBI & AJT fohaas feam Ader w oy

NSE

T TH S

NITI Ayog

SAifr 3marET

Finance Commission

T 3T

SEBI

Gl

Answer Key: D




